Name: Date:

Teacher: Class:

Subtraction 101

©
l What did one atom say to the other atom? Nothing. Atoms
can't talk!
Subtract (Take away) these numbers to find the total.
L 3-0= 2. 8-3= 3. 3-2=
4 T7-1= > 9-9= & 1-0=
7. 8-8= 8 10-0= % 8-7=

10. 9g_2 = 11. g_2 = 12. 5_§5=
3. §_3 = 4. 4_3= 5. 5_0=
6. 9g_§= 7. 9g_3 = 18. 1 -1 =
19. 4_Q= 2. 10-5= 2. 9_-4 =
22. §_3= 23. §_4= 2. 4 _2 =
25. 4—-1= 6. -1 = 271. 7 _ 7 =

8. 6_6 = 29. 3_3= 3. 10— 8 =

© Facilitators Ferriswheel WS#:Sub101 Score:



Answer Key Date:

Teacher: Class:

Subtraction 101

What did one atom say to the other atom? Nothing. Atoms
can't talk!

Subtract (Take away) these numbers to find the total.

L 3-0=3 2 8-3=5__ % 3-2=1
4 7-1=6 5. 9-9=0 > 1-0=1
~ 8-8=0 8 10-0=10 > 8-7=1
0. g_2=7 1. 8_2=6 2. 5_5=0
13. §_3 =273 4. 4-3=1 L. 5-0=5
6. g_5=14 7. 9_3=6 18.1-1=0
9 4-0=4 0. 10-5=5 2. 9-4=5
2. §5_3=2 23. 5_4=1 24 4-2=2
5. 4—-1=3 6. g—1=05 2. 7 _-7=0
8. 6-6=0 29. 3_.3=0 0. 10-8=2
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